MANIFOLD ASSEMBLY

ITEM


VENDOR


QUANTITY

PART NO.

PRICE

STANDOFF 1/8 IN.

MCMASTER-CARR

6


91125A120 (6-32)

$01.08 EA.

STANDOFF 3/8 IN.

MCMASTER-CARR

6


91125A160 (6-32)

$01.16 EA.

6-32x1/4 PAN HD.

MCMASTER-CARR

6


91735A144

$00.20 EA.

6-32x1/8 SET SCREW
MCMASTER-CARR

2


92313A142

$00.25 EA.

SOLENOID VALVE

CLIPPARD

3


EC-2M-6


$18.80 EA.

CONNECTOR

CLIPPARD

3


C2-RB18


$01.25 EA.

MUFFLER

MCMASTER-CARR

3


4450K31


$01.15 EA.

FEEDTHROUGH

OMNI-SPECTRA

3


2098-3323-94

SAMPLED

HERMETIC MICRODOT
CERAMASEAL

1


11291-03-W

SAMPLED

GAS & GROUND TUBE
MCMASTER-CARR

3
PACK 20

8859K17


$10.13

SEALANT

MCMASTER-CARR

1


4538K1


$10.93

#6 FLAT WASHER

MCMASTER-CARR

6
PACK 500
98017A614

$07.58

#6 WAVE WASHER
MCMASTER-CARR

6
PACK 50

9714K42


$14.90

6-32x3/4 FH PHILLIPS
MCMASTER-CARR

12


91500A151

$00.25 EA.

6-32x1/2 STUD

MCMASTER-CARR

6
PACK 100
95412A415

$08.00

SENSOR ASSEMBLY

TEFLON INSULATOR



3





FABBED

TEFLON RING




3





FABBED

TEFLON TUBE

MCMASTER-CARR

3
5 FEET

51805K51

$00.83/FT.

BeCu CONTACT

MICROTECH

3





FABBED

8-32x3/8 PAN HD.

MCMASTER-CARR

3


91735A192

$00.20 EA.

FLAT WASHER

MCMASTER-CARR

3
PACK 500
90945A725

$09.17


WAVE WASHER

MCMASTER-CARR

3


9714K42 (SEE ABOVE)

INSULATING WASHER
MCMASTER-CARR

3
PACK 100
90062A009

$04.95

KNOB ASSEMBLY

SPRING PLUNGER
MCMASTER-CARR

2


84985A41 (LOCKING)
$04.53 EA.

6-32x1/4 FH HEX

MCMASTER-CARR

2
PACK 100
92210A144

$05.12

ACTUATOR (MAGNET)
MCMASTER-CARR

1


5768K21


$05.52 EA.

SHOULDER BOLT

MCMASTER-CARR

1


94045A205

$02.92 EA.

“O” RINGS

003  1/16x3/16x1/16
MCMASTER-CARR

1


9464K342-003

SAMPLED

006  1/8x1/4x1/16

MCMASTER-CARR

1


9464K11


SAMPLED

220  1-3/8x1-5/8x1/8
MCMASTER-CARR

2


9464K42


SAMPLED

245  4-3/8x4-5/8x1/8
MCMASTER-CARR

1


9464K342-245

SAMPLED

256  5-3/4x6x1/8

MCMASTER-CARR

1


9464K342-256

SAMPLED

261  6-3/4x7x1/8

MCMASTER-CARR

1


9464K342-261

SAMPLED

DISPLAY ASSEMBLY

CONDUIT

CAJON


1


SS-TH4PM4PM4-24

HOUSING

DIGIKEY


1


HM151-ND (1590B)

MAIN HOUSING

OXYGEN FILTER

NUPRO


1


SS-4FW5-7

DRAW LATCH

MCMASTER-CARR

3


1864A17


$10.69 EA.

CANISTER ASSEMBLY

HOLD DOWN ROD

MCMASTER-CARR

1
6 FT.

89325K21

$06.34 EA.

ROD HOUSING

MCMASTER-CARR

1
2 FT.

8585K11


$00.58/FT.

CANNISTER

MCMASTER-CARR

1
2 FT.

8585K23


$21.84/FT.

END PLATE

MCMASTER-CARR

1
12X12

8574K28


$06.54 EA.

ABSORBENT PLATE
MCMASTER-CARR

1
12X12

8574K26


$03.56 EA.

KNOB


MCMASTER-CARR

1


6479K17


$00.88 EA.

